ELT-45106 RF equipment for wireless networks
Final examination (Ari Asp)
26.2.2018 (calculator allowed)

You have to answer to all five (5) questions. Check equations from next page.
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Explain the why IP3 causes more problem than IP2.

What are main differences between Near field and far field. Explain at least two
different criteria how do you know you are working in far field.

Explain following figure. What kind of systems are behind those curves and what
are the main theorethical differences between them?

normalized output SNR, dB

branches

Explain VSWR. When it occurs?

A receiver front is following:

ANTENNA LNA MIXER IF FILTER AMPLIFIER
cable  g\mplifier NF =6 dB
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cable loss

=5dB G=22dB Filter loss G=12dB
Te=438 K =3 dB NF =6 dB

Calculate the total NF and Te for output.

Draw a figure and note all the calculations.
Hint:
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Some (more or less useful equations:
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